2013-2014 6TH GRADE CONTEST, Answers An_ AN SIXTH GRADE MATHEMATICS CONTEST

. Craig the Croc cried crocodile tears at exactly 26.
15% of the movies he saw last year, but saw 34 _"y Math League Press, P.O. Box 17, Tenafly, New Jersey 07670-0017

movies that did not make him cry. How many
of the movies that he saw made him cry?

A) 6 B)y12 C)18 D) 40

27.

2013-2014 Annual 6th Grade Contest

If two consecutive whole numbers have a | 27. Tuesday, F

different number of digits, then their esday, February 18 or 25, 2014

product must be a multiple of Instructi
nsiruciions

A) 4 By11 C) 15 D) 100

28. My bookcase has 5 shelves, and each shelf has the same number of | 28. = Time Do not open this booklet until you are told by your teacher to begin.
books on it. If the books have a total of 18000 pages, and there are You might be unable to finish all 35 questions in the 30 minutes allowed.
an average of 360 pages per book, how many books are on each shelf? m Scores Please remember that this is a contest, and not a test—there is no
A) 10 B) 50 C) 55 D) 250 “passing” or “failing” score. Few students score as high as 28 points

29 2 %25 %27 x 21l = 2. (80% correct). Students with half that, 14 points, should be commended!

Format, Point Value, & Eligibility E isan A, B, C,orD
3 2 - 1155 ] y 9 ty Everyanswerisan A, B, C, orD.
A) 4 B) 16 02 D) 16 Write answers in the Answers column. A correct answer is worth 1 point.
30. A wallis painted with vertical stripes of red, orange, yellow, green, blue, | 30. Unanswered questions get no credit. You may use a calculator.

indigo, and violet in that order, and then the pattern is repeated 50 times.
How many of the first 100 stripes are orange?
A) 7 B) 12 C) 14 D) 15

31. (the # of sides of a trapezoid) X (the # of sides of a rhombus) + (the # | 31.
of sides of a hexagon) x (the # of sides of a triangle) =
A) 24 B) 28 C) 34 D) 66
32. The hands of a circular clock form a _?_angle at 6:15 P.M. 32.
A) 825° B) 90° C) 97.5° D) 270°
33. At Terrier Teahouse, each blend contains 2 differ- 33.
ent teas. There are 6 herbal teas and 4 teas that are
not herbal on the menu. If at least 1 tea in a blend
must be herbal, _? _ different blends are possible.
A) 24 B) 27 C) 39 D)b54
34. It takes 36 workers 48 hours to paint a ship. Working 34,
at the same rate, how many hours would 24 workers
need to paint the ship?
A) 32 B) 56 64 D)72
35. The product of all whole numbers from 1 through 35 is divisible by 35.
each of the following except
A) 218 B) 76x3 C) 3B x5 D) 108x7
The end of the contest E‘ 6
Visit our Web site at http://www.mathleague.com Copyright © 2014 by Mathematics Leagues Inc.
Solutions on Page 125 ¢ Answers on Page 150
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